INSTITUTE OF ADVANCED STUDY IN SCIENCE AND TECHNOLOGY AN AUTONOMOUS INSTITUTE UNDER DEPARTMENT OF SCIENCE AND TECHNOLOGY (GOVT. OF INDIA)

Vigyan path, Paschim Boragaon, Garchuk, Guwahati – 781 035, India.

Notice Inviting Tender

Advt. No.: 509 Date: 03.09.2024

Sealed Tender are invited from the empaneled contractor of Institute of Advanced Study in Science and Technology, Paschim Boragaon, Guwahati-781035, for the following works -

Sl. No.	Name of Work	Estimate Amount	Location		
1	Renovation of Molecular Biology & Microbial Biotechnology Lab (Room No.138)	73,532.00	Lab No.138		
2	Construction of walk way towards workshop and painting workshop bathroom	1,03,236.00	Workshop		
3	Replace of Wooden door frame &wall repairing of KRC at IASST	1,84,867.00	KRC		
	Grand Total	3,61,635.00			

The Tender will be received in the office the Registrar of IASST up to 17.09.2024 on 3.00 pm. The tendered price must be valid for one month from the date of acceptance of the tender and no change/alteration in the tender price is admissible during the period. The Tender price shall be firmed and inclusive of all taxes. Details of tenders / terms & conditions can be downloaded from the website of the Institute www.iasst.gov.in

If GST is not included in the quoted price the percentage (%) rate of GST shall be specified in the tender. All other terms and conditions will be as per GCC CPWD-2021 and its subsequent revised editions.

The authority possesses the right to cancel any tender without showing reason thereof.

Encl.....SOR I

Registrar, IASST

Summary of SOR:1) Renovation of Molecular Biology & Microbial Biotechnology Lab (Room No.138) 2) Construction of walk way towards workshop and painting workshop bathroom & 3) Replace of Wooden door frame &wall repairing of KRC at IASST

A	Total Estimate Value	Rs.3,61,635/
		(GST Included)
В	Overall% Above or below or at par	
С	Total (A+B)	
D	GST	Included
E	Grand Total (C) + (D)	

Signature of Bidders

Renovation work of lab no-138							
Item No.	Description of item	Qnty	Unit	Rate (Rs)	Amount (Rs)		
1/13.43	Apply one coat of cement primer of approved brand and manufacture on plastered surface.	134.00	sqm	64.45	8636.30		
2/13.8	Providing two coats of Birla white wall care puttyof clean water as specified and directed by the department(Total thickness of two coats is maximum 1.5 mm)	134.00	sqm	123.85	16595.90		
3/13.82	Wall painting with acrylic emulsion paint, having VOC (Volatile Organic Compound) content less than 50 grams/ litre, of approved brand and manufacture, including applying additional coats wherever required, to achieve even shade and colour.	134	sqm	116.05	15550.70		
1	supply and installation of window blind	13.875	sqm	2000	27750.00		
2	miscelenious job	1	job	5000	5000.00		
			Total		73,532.90		

Name of the Work: - construction of walk way towards workshop and painting of workshop bathroom

Sl.No-	Description of Item	Unit	Qnty	Rate	Amount
2.8	Earth work in excavation by mechanical means (Hydraulic excavator) /manual means in foundation trenches or drains (not exceeding 1.5 m inwidth or 10 sqm on plan), including dressing of sides and ramming ofbottoms, lift upto 1.5 m, including getting out the excavated soil anddisposal of surplus excavated soil as directed, within a lead of 50 m.				
	All kinds of soil.	Cum	6.00	286.85	1,721.10
4.1.5	1:3:6 (1 Cement : 3 coarse sand (zone-III) derived from naturalsources : 6graded stone aggregate 40 mm nominal sizederived from natural sources) cum				
		Cum	3.60	6833.40	24,600.24
6.1	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in foundation and plinth in: 6.1.1 Cement mortar 1:4 (1 cement : 4 coarse sand) cum 6882.00 6.1.2 Cement mortar 1:6 (1 cement : 6 coarse sand) cum 6658.25	cum	3.68	6658.25	24,502.36
16.68	Providing and laying 60mm thick faciory made cement concrete interlocking paver block of M -30 grade made by block making machine with strong vibratory compaction, of approved size, design & shape, laid in required colour and pattern over and including 50mm thick compacted bed of coarse sand, filling the joints with line sand etc. all complete as per the direction of Engineer-in-charge	sqm	20.00	951.00	19,020.00
13.43	Apply one coat of cement primer of approved brand and manufacture on plastered surface.	sqm	78	60.00	4,680.00

13.8	Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete.	sqm	78	123.85	9,660.30
13.82	Wall painting with acrylic emulsion paint, having VOC (Volatile Organic Compound) content less than 50 grams/litre, of approved brand and manufacture, including applying additional coats wherever required, to achieve even shade and colour.	sqm	78	116.05	9,051.90
extra	Miselaneous sanitary item etc	job	1.00	10000.00	10,000.00
		Total			103,235.90

Library reparing work Abstract of cost Unit Item No. Description of Items Quantity Rate Amount Dismantling old plaster or skirting raking out joints and cleaning the 1/15.56 surface for plaster including 45.05 51 sqm 2297.55 disposal of rubbish to the dumping ground Providing and laying water proofing treatment to vertical and horizontal 2/22.3 surfaces of depressed portions of 51 774.25 39486.75 sqm W.C., kitchen and the like consisting of: 15mm thick cement plaster on the 3/13.2 rough side of single or half brick 69.00 sqm 339.70 23439.30 wall with cement morter of 1:4 Apply one coat of cement primer of 4/13.85 approved brand and manufacture 72.00 sqm 64.45 4640.40 on plastered surface. Providing two coats of Birla white wall care puttyof clean water 5/13.26 as specified and directed by the 72.00 15429.60 214.3 sqm department...(Total thickness of two coats is maximum 1.5 mm) Wall painting with acrylic emulsion paint, having VOC (Volatile Organic Compound) content less than 50 8751.60 6/13.83 grams/litre, of approved brand and 72 121.55 sqm manufacture, including applying additional coats wherever required. to achieve even shade and colour. Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & 7/18.9.9 cold water supply including all

CPVC plain & brass threaded fittings This includes jointing of pipes & fittings with one step CPVC

			Т	otal	184867.50
9	Miscelenious itemDoor frame change ,anti termite treatment etc	1	job	15000	15000.00
	over and including priming coat of exterior primer applied	54	sqm	154.45	8340.30
	New work (Two or more coat applied @ 1.67 ltr/10 sqm				0.00
8/13.48A	Finishing walls with Acrylic Smooth exterior paint of required shade :				0.00
	100 mm	24	mtr	2811.75	67482.00
	direction of Engineer in Charge				
	solvent cement, trenching, refilling & testing of joints complete as per				